

County of Hernando

Procurement Department

Carla Rossiter-Smith, Chief Procurement Officer 15470 Flight Path Drive, Brooksville, FL 34604

EVALUATION TABULATION T No. 24-T000690/JG HVAC REPAIRS ON SYSTEMS UP TO TWENTY-FIVE (25) TONS RESPONSE DEADLINE: May 20, 2024 at 10:00 am

SELECTED VENDOR TOTALS

Vendor	Total
McCloskey Mechanical Contractors, Inc.	\$41,100.00
Sherman Mechanical Contractors	\$44,450.00
Help You Cool LLC	\$45,550.00
Kenyon & Partners, Inc.	\$52,506.00
Air Mechanical & Service Corp	\$63,930.00
EER SERVICE LLC	\$71,100.00

PART I: HOURLY RATES BY TRADE

Note: Overtime (OT) is defined as work before 7am and after 5pm and weekend and holidays. No costs other than that shown on the pricing proposal shall be allowed or invoiced.

PART I: HOURLY RATES BY TRADE				Air Mechanical & EER SERVICE LLC Service Corp		Help You Cool LLC		Kenyon & Partners, Inc.		McCloskey Mechanical Contractors, Inc.		Sherman Mechanical Contractors				
Selected	Line Item	Description	Estimated Hours	Unit of Measure	Hourly Rate	Total	Hourly Rate	Total	Hourly Rate	Total	Hourly Rate	Total	Hourly Rate	Total	Hourly Rate	Total
X	1	Journeyman Service Mechanic Regular Hourly Rate	200	Hours	\$90.00	\$18,000.00	\$210.00	\$42,000.00	\$100.00	\$20,000.00	\$109.00	\$21,800.00	\$85.00	\$17,000.00	\$95.00	\$19,000.00
X	2	Journeyman Service Mechanic OT Hourly Rate	40	Hours	\$132.00	\$5,280.00	\$260.00	\$10,400.00	\$150.00	\$6,000.00	\$164.00	\$6,560.00	\$124.00	\$4,960.00	\$125.00	\$5,000.00
X	3	Journeyman Duct and Sheet Metal Regular Hourly Rate	20	Hours	\$85.00	\$1,700.00	\$210.00	\$4,200.00	\$100.00	\$2,000.00	\$90.00	\$1,800.00	\$85.00	\$1,700.00	\$95.00	\$1,900.00
X	4	Journeyman Duct and Sheet Metal OT Hourly Rate	10	Hours	\$120.00	\$1,200.00	\$260.00	\$2,600.00	\$150.00	\$1,500.00	\$145.00	\$1,450.00	\$124.00	\$1,240.00	\$125.00	\$1,250.00
Х	5	Helper/Laborer Regular Rate	50	Hours	\$80.00	\$4,000.00	\$190.00	\$9,500.00	\$50.00	\$2,500.00	\$80.00	\$4,000.00	\$65.00	\$3,250.00	\$88.00	\$4,400.00
Х	6	Helper/Laborer OT Hourly Rate	10	Hours	\$115.00	\$1,150.00	\$240.00	\$2,400.00	\$75.00	\$750.00	\$104.00	\$1,040.00	\$95.00	\$950.00	\$110.00	\$1,100.00
Total		1	1			\$31,330.00		\$71,100.00		\$32,750.00		\$36,650.00		\$29,100.00		\$32,650.00

EVALUATION TABULATION Invitation to Bid - HVAC REPAIRS ON SYSTEMS UP TO TWENTY-FIVE (25) TONS Page 2

PART II: HVAC BUILDING CONTROLS - HOURLY RATES BY TRADE

Note: Overtime (OT) is defined as work before 7am and after 5pm and weekend and holidays. No costs other than that shown on the pricing proposal shall be allowed or invoiced.

PART II: HVAC BUILDING CONTROLS – HOURLY RATES BY TRADE		Air Mechanical & EER SERVICE LLC Service Corp		RVICE LLC	Help You Cool LLC		Kenyon & Partners, Inc.		McCloskey Mechanical Contractors, Inc.		Sherman Mechanical Contractors					
Selected	Line Item	Description	Estimated Hours	Unit of Measure	Hourly Rate	Total	Hourly Rae	Total	Hourly Rate	Total	Hourly Rate	Total	Hourly Rate	Total	Hourly Rate	Total
Х	1	Lead Controls Mechanic Regular Hourly Rate	80	Hours	\$250.00	\$20,000.00	\$210.00	\$16,800.00	\$100.00	\$8,000.00	\$125.00	\$10,000.00	\$90.00	\$7,200.00	\$90.00	\$7,200.00
X	2	Lead Controls Mechanic Overtime Hourly Rate	8	Hours	\$375.00	\$3,000.00	\$260.00	\$2,080.00	\$150.00	\$1,200.00	\$165.00	\$1,320.00	\$132.00	\$1,056.00	\$125.00	\$1,000.00
X	3	Journeyman Controls Mechanic Regular Hourly Rate	24	Hours	\$250.00	\$6,000.00	\$210.00	\$5,040.00	\$100.00	\$2,400.00	\$109.00	\$2,616.00	\$88.00	\$2,112.00	\$115.00	\$2,760.00
X	4	Journeyman Controls Mechanic Overtime Hourly Rate	0	Hours	\$375.00	\$0.00	\$260.00	\$0.00	\$150.00	\$0.00	\$164.00	\$0.00	\$129.00	\$0.00	\$175.00	\$0.00
Х	5	Helper/Laborer Regular Hourly Rate	24	Hours	\$150.00	\$3,600.00	\$190.00	\$4,560.00	\$50.00	\$1,200.00	\$80.00	\$1,920.00	\$68.00	\$1,632.00	\$35.00	\$840.00
Х	6	Helper/Laborer Overtime Hourly Rate	0	Hours	\$225.00	\$0.00	\$240.00	\$0.00	\$75.00	\$0.00	\$104.00	\$0.00	\$98.00	\$0.00	\$60.00	\$0.00
Total	Total					\$32,600.00		\$28,480.00		\$12,800.00		\$15,856.00		\$12,000.00		\$11,800.00

EVALUATION TABULATION Invitation to Bid - HVAC REPAIRS ON SYSTEMS UP TO TWENTY-FIVE (25) TONS Page 3

PART III: PARTS PRICE MARKUP

	PART III: PARTS PRICE MARKUP	Air Mechanical & Service Corp	EER SERVICE LLC	Help You Cool LLC	Kenyon & Partners, Inc.	McCloskey Mechanical Contractors, Inc.	Sherman Mechanical Contractors	
Line Item	Description	Unit of Measure	Not to Exceed 15%	Not to Exceed 15%	Not to Exceed 15%	Not to Exceed 15%	Not to Exceed 15%	Not to Exceed 15%
1	Contractor's Percent of Markup for Materials (from Contractor Price)	Percentage	15%	14%	14%	15%	15%	15%
2	Percent Markup for Sub-Contracted Labor and Materials (Materials from Cost)	Percentage	15%	14%	14%	15%	10%	15%
3	Percent Markup for Rental Equipment Necessary for Service Project	Percentage	15%	14%	14%	15%	10%	10%
4	Profit and Mobilization Cost as a Percent of the Projects Total Cost	Percentage	15%	15%	14%	15%	15%	15%

Alisa Pike

Alisa Pike, Procurement Coordinator